District School Board of Pasco County Bid Recommendation

Bid Title	Paper Products – Warehouse Stock Part II		Number of Vendors Notified	175
Bid Number	09-004-SN		Number of Bids Distributed	79
Date Solicited	February 2, 2008	_	Number of Formal "No Bid" Responses	17
Date Opened	March 14, 2008		Number of Vendors Bidding	6
Date Board Presentation	June 17, 2008		Funding Source	General Funds
Total Savings	Estimated Savings \$29,637.51		Grand Total of Bid	Estimated Total \$252,855.90

Recommendation:

Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best bid meeting written specifications.

Term of Contract:

This is an annual purchase for paper products to be stocked in the central warehouse for use throughout the District.

Notations and Exceptions:

Where recycled products are recommended for award (Any group denoted with an "A" after the group refers to a recycled product), recycled bids meet minimum specified recycled content and were lower in price than the non-recycled products being bid. Bidders were advised only one group would be awarded based upon costs.

Offers from vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Eddie Flicker, Custodial Services Coordinator Tom Learn, Supervisor of Information Services

Bids Prepared By:

Stephanie Noble, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

Date/Time: June 11,2008; 09:45:00

Page 2 09-004-SN Paper Products Warehouse Stock Recommendation

Group XII and XIIA - Janitorial Tissue-

<u>JS-19 Toilet Tissue</u>- Recommend acceptance of bid from Dade Paper Company as lowest and best bid meeting written specifications and testing criteria. Recommend rejection of bids from Peninsular Paper Company bidding Atlas and Buckeye Cleaning Center both bid Baywest and do not meet testing criteria for absorption and measurement requirements.

<u>JS-19A Toilet Tissue</u> Recommend rejection of bids from Peninsular Paper Company bidding Atlas and Buckeye Cleaning Center and Dade Paper Company all bidding Baywest and it does not meet testing criteria for absorption and measurement requirements.

<u>JS-20 Single-Fold Towels-</u>Recommend rejection of all bids for JS-20 as same product was bid for recycled content under JS-20A and met minimum specified recycled content and were lower in price than the non-recycled products being bid.

<u>JS-20A Single-Fold Towels</u>— Recommend acceptance of bid from Dade Paper meeting written specifications and testing criteria.

<u>JS-21 Single-Fold Towels-</u> Recommend rejection of all bids for JS-21 as same product was bid for recycled content under JS-21A and met minimum specified recycled content and were lower in price than the non-recycled products being bid.

<u>JS-21A Multi-Fold Towels</u>- Recommend acceptance of bid from Dade Paper meeting written specifications and testing criteria.

Group XVII Misc Paper Products –

<u>PP-44 Pin Feed Paper (14 7/8 x 11)-</u>Recommend acceptance of bid from Ace Office Supplies meeting written specifications and testing criteria.

<u>PP-68 Pin Feed Paper (14 7/8 x 8 1/2) - Recommend acceptance of bid from Ace Office Supplies meeting written specifications and testing criteria.</u>

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Ace Office Supplies	AFP Industries, Inc.	
			631 Triumph Court, Unit #5	PO Box 43-0747	
BID TITL	E: Pape	er Products - Warehouse Stock	Orlando, Florida 32805	South Miani, Florida 33243-0747	
			407-523-6440	1-800-962-4041	
BID: # 09-			407-523-6388	1-305-665-1800	
ITEM#	QTY.	DESCRIPTION			
		GROUP XII: JANITORIAL TISSUE			
JS-19	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-20	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-21	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Amsan,	Florida	Buckeye Clea	ning Center
			3031 N. Andrews Ave.		422 South Ware Blvd.	
BID TITI	E: Pape	er Products - Warehouse Stock	Pompano Beach			
			1-800-94		813-621	
BID: # 09			1-800-67	70-0354	813-621	-6160
ITEM#	QTY.	DESCRIPTION				
		GROUP XII: JANITORIAL TISSUE				
JS-19	2,400	Toilet Tissue	\$42.11	\$101,064.00	\$36.90	\$88,560.00
	Cases	Manufacturer	Baywest 14000		Baywest 14000	
		Number of Rolls Per Case	96/1,000		96	
		Number of Pallets	96		24	
		Charge per Pallet	NC		NC	
Alternate	2,400	Toilet Tissue				
	Cases	Manufacturer				
		Number of Rolls Per Case				
		Number of Pallets				
		Charge per Pallet				
JS-20	4,680	Single-Fold Towels	\$15.30	\$71,604.00	\$13.57	\$63,507.60
	Cases	Manufacturer	Baywest 47000		Baywest 47000	
		Number of Towels Per Case	4020		4020	
		Number of Pallets	93.6		15	
		Charge per Pallet	N/C		N/C	
Alternate	4,680	Single-Fold Towels				
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet				
JS-21	7,800	Multi-Fold Towels	\$15.30	\$119,340.00	\$13.57	\$105,846.00
	Cases	Manufacturer	Baywest 48900		Baywest 48000	
		Number of Towels Per Case	4,000		4,020	
		Number of Pallets	156		15	
		Charge per Pallet/Exchange	N/C		N/C	
Alternate	7,800	Multi-Fold Towels				
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Business Stationers	Bye-Mo'r, Inc.
		,	3800 St. Patrick St.	PO Box 107
BID TITL	E: Pape	r Products - Warehouse Stock	Montreal, Quebec, Canada H4E1A4	Kingsburg, IN 46346-0107
			(514) 989-8899	800-847-9219
BID: # 09-	004-SN		(514) 989-6666	219-393-3515
ITEM#	QTY.	DESCRIPTION		
		GROUP XII: JANITORIAL TISSUE		
S-19	2,400	Toilet Tissue	NB	NB
	Cases	Manufacturer		
		Number of Rolls Per Case		
		Number of Pallets		
		Charge per Pallet		
Alternate	2,400	Toilet Tissue	NB	NB
	Cases	Manufacturer		
		Number of Rolls Per Case		
		Number of Pallets		
		Charge per Pallet		
S-20	4,680	Single-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet		
Alternate	4,680	Single-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet		
S-21	7,800	Multi-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
Alternate	7,800	Multi-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Dade Paper Co.	E & R Industrial Sales, inc.	
			6918 Presidents Drive	11838 62nd Street	
BID TITL	E: Pape	er Products - Warehouse Stock	Orlando, Florida 32809	Largo, Florida 33773	
			1-800-226-1020	727-536-2166	
BID: # 09-			1-407-857-8247	727-536-2206	
ITEM#	QTY.	DESCRIPTION			
		GROUP XII: JANITORIAL TISSUE			
JS-19	2,400	Toilet Tissue	\$37.79 \$90,696.00	NB	
	Cases	Manufacturer	Georgia Pacific 14580		
		Number of Rolls Per Case	80 600 case purchase		
		Number of Pallets	- *State Contract		
		Charge per Pallet	Exchange		
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-20	4,680	Single-Fold Towels	\$12.18 \$57,002.40	NB	
	Cases	Manufacturer	SCA SK1850A		
		Number of Towels Per Case	4000 700 case purchase		
		Number of Pallets	- *State Contract		
		Charge per Pallet	Exchange		
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-21	7,800	Multi-Fold Towels	\$12.18 \$95,004.00	NB	
	Cases	Manufacturer	SCA MK530A		
		Number of Towels Per Case	4000 780 case purchase		
		Number of Pallets	- *State Contract		
		Charge per Pallet/Exchange	Exchange		
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Fierro Paper Industries	Mac Papers	
			100 Bethridge Road	1701 North 50th Street	
BID TITL	E: Pape	er Products - Warehouse Stock	Tornoto, Ontario M9WIN3	Tampa, Florida 33675	
			877-634-3776	813-247-3461	
	: # 09-004-SN		416-746-9754	813-248-6926	
ITEM#	QTY. DESCRIPTION GROUP XII: JANITORIAL TISSUE				
IS-19	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
S-20	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
S-21	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			

DATE OF OPENING: March 14, 2008 @ 2:30 p.m		NG: March 14, 2008 @ 2:30 p.m	Peninsular Paper Company		Pyramid School Products	
			5101 East Hanr		6510 North 54th Street	
BID TITI	BID TITLE: Paper Products - Warehouse Stock		Tampa, Florida		Tampa, Florida 33610-1908	
			813-621-30		813-621-2644	
	D: # 09-004-SN		813-623-13	880	813-621-7688	
ITEM#	QTY.	DESCRIPTION				
		GROUP XII: JANITORIAL TISSUE				
JS-19	2,400	Toilet Tissue	\$33.69	\$80,856.00	NB	
	Cases	Manufacturer	Atlas 125			
		Number of Rolls Per Case	96			
		Number of Pallets	12			
		Charge per Pallet	N/C			
Alternate	2,400	Toilet Tissue	NB		NB	
	Cases	Manufacturer				
		Number of Rolls Per Case				
		Number of Pallets				
		Charge per Pallet				
JS-20	4,680	Single-Fold Towels	12.68	\$59,342.40	NB	
	Cases	Manufacturer	Cascades 101750			
		Number of Towels Per Case	4000			
		Number of Pallets	26			
		Charge per Pallet	N/C			
Alternate	4,680	Single-Fold Towels	NB		NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet				
JS-21	7,800	Multi-Fold Towels	12.68	\$98,904.00	NB	
	Cases	Manufacturer	Cascades 101751			
		Number of Towels Per Case	4000			
		Number of Pallets	26			
		Charge per Pallet/Exchange	N/C			
Alternate	7,800	Multi-Fold Towels	NB		NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Resource	One, inc.	School Speci	alty
		•	1202 North M	Iagnolia Ave.	W6316 Design	Drive
BID TITL	E: Pape	er Products - Warehouse Stock	Ocala, Flor		Greenville, WI	
			352-622		888-388-32	
	ID: # 09-004-SN		352-732	2-5660	800-675-17	75
ITEM#	QTY.	DESCRIPTION				
		GROUP XII: JANITORIAL TISSUE				
S-19	2,400	Toilet Tissue	\$41.76	\$100,224.00	NB	
	Cases	Manufacturer	GP 14580			
		Number of Rolls Per Case	80			
		Number of Pallets	96			
		Charge per Pallet	\$5.00			
Alternate	2,400	Toilet Tissue	\$40.34	\$96,816.00	NB	
	Cases	Manufacturer	Baywest 14000			
		Number of Rolls Per Case	96/1000 sheets			
		Number of Pallets	96			
		Charge per Pallet	\$7.00			
S-20	4,680	Single-Fold Towels	\$15.06	\$70,480.80	NB	
	Cases	Manufacturer	GP 235-04			
		Number of Towels Per Case	4,000			
		Number of Pallets	94			
		Charge per Pallet	\$5.00			
Alternate	4,680	Single-Fold Towels	\$14.65	\$68,562.00	NB	
	Cases	Manufacturer	Baywest 470-A			
		Number of Towels Per Case	4,000			
		Number of Pallets	94			
		Charge per Pallet	\$7.00			
S-21	7,800	Multi-Fold Towels	\$15.90	\$124,020.00	NB	
	Cases	Manufacturer	GP 233-04			
		Number of Towels Per Case	4,000			
		Number of Pallets	312			
		Charge per Pallet/Exchange	\$5.00			
Alternate	7,800	Multi-Fold Towels	\$14.65	\$114,270.00	NB	
	Cases	Manufacturer	Barywest 48900			
		Number of Towels Per Case	4,000			
		Number of Pallets	312			
		Charge per Pallet/Exchange	\$7.00			

DATE OF	F OPENII	NG: March 14, 2008 @ 2:30 p.m	Standard Stationery Supply Company	Unisource Worldwide Inc.	
			2251 Foster Ave.	4151 Woodcook Drive	
BID TITI	E: Paper Products - Warehouse Stock		Wheeling, IL 60090	Jacksonville, Florida 32207	
			800-870-1315	800-631-1955	
	D: # 09-004-SN TEM# QTY. DESCRIPTION		847-870-1338	800-224-8799	
ITEM#	QTY.				
		GROUP XII: JANITORIAL TISSUE			
JS-19	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Rolls Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-20	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
JS-21	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			

OPENIN	NG: March 14, 2008 @ 2:30 p.m	US Food Lateland Division	1
	•	P.O. Box 330	
E: Paper	Products - Warehouse Stock		0
		<u> </u>	
	D-12 2D-12-12	863-683-6186	
QTY.			
1		NB	
Cases			
	Charge per Pallet		
2,400	Toilet Tissue	NB	
Cases	Manufacturer		
	Number of Rolls Per Case		
	Number of Pallets		
	Charge per Pallet		
4,680	Single-Fold Towels	NB	
Cases	Manufacturer		
	Number of Towels Per Case		
	Number of Pallets		
	Charge per Pallet		
4,680	Single-Fold Towels	NB	
Cases	Manufacturer		
	Number of Towels Per Case		
	Number of Pallets		
	Charge per Pallet		
7,800	Multi-Fold Towels	NB	
Cases	Manufacturer		
	Number of Towels Per Case		
	Number of Pallets		
	Charge per Pallet/Exchange		
7,800	Multi-Fold Towels	NB	
Cases	Manufacturer		
	Number of Towels Per Case		
	Number of Pallets		
	Charge per Pallet/Exchange		
	2,400 Cases 4,680 Cases 7,800 Cases	QTY. GROUP XII: JANITORIAL TISSUE 2,400 Toilet Tissue Cases Manufacturer Number of Rolls Per Case Number of Pallets Charge per Pallet 2,400 Toilet Tissue Cases Manufacturer Number of Rolls Per Case Number of Rolls Per Case Number of Pallets Charge per Pallet 4,680 Single-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet 4,680 Single-Fold Towels Per Case Number of Towels Per Case Number of Pallets Charge per Pallet 4,680 Single-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet 7,800 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange 7,800 Multi-Fold Towels Cases Manufacturer Number of Towels Per Case Number of Pallets Charge per Pallet/Exchange	P.O. Box 330 Lakelands Lakelands Lakelands Lakelands Ros 273-0330

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Ace Office Supplies	AFP Industries, Inc.	
		•	631 Triumph Court, Unit #5	PO Box 43-0747	
BID TITL	E: Pape	r Products - Warehouse Stock	Orlando, Florida 32805	South Miani, Florida 33243-0747	
			407-523-6440	1-800-962-4041	
BID: # 09-			407-523-6388	1-305-665-1800	
ITEM#	QTY.	DESCRIPTION			
		GROUP XII-A: JANITORIAL TISSUE			
JS-19A	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
Alternate	2,400	Toilet Tissue			
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
JS-20A	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
JS-21A	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		Recycle Content			

DATE OF	F OPENI	NG: March 14, 2008 @ 2:30 p.m	Amsan,	Florida	Buckeye Clea	ning Center
		•	3031 N. An		422 South V	
BID TITI	LE: Pape	r Products - Warehouse Stock	Pompano Beach	n, Florida 33064	Tampa, Flor	ida 33619
	-		1-800-94	10-0900	813-621	-6260
BID: # 09	-004-SN		1-800-67	70-0354	813-621	-6160
ITEM#	QTY.	DESCRIPTION				
		GROUP XII-A: JANITORIAL TISSUE				
JS-19A	2,400	Toilet Tissue	\$42.11	\$101,064.00	\$36.90	\$88,560.00
	Cases	Manufacturer	Baywest 14000		Baywest 14000	
		Number of Towels Per Case	96/1,000		96	
		Number of Pallets	96		25	
		Charge per Pallet/Exchange	N/C		N/C	
		% Recycle Content	49%		49%	
Alternate	2,400	Toilet Tissue				
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-20A	4,680	Single-Fold Towels	\$15.30	\$71,604.00	\$13.57	\$63,507.60
	Cases	Manufacturer	Baywest 47000		Baywest 47000	
		Number of Towels Per Case	4020		4,020	
		Number of Pallets	93.6		15	
		Charge per Pallet/Exchange	N/C		N/C	
		% Recycle Content	40%		40%	
Alternate	4,680	Single-Fold Towels				
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-21A	7,800	Multi-Fold Towels	\$15.30	\$119,340.00	\$13.57	\$105,846.00
	Cases	Manufacturer	Baywest 48900		Baywest 48000	
		Number of Towels Per Case	4000		4,020	
		Number of Pallets	156		-	
		Charge per Pallet/Exchange	N/C		N/C	
		Recycle Content	82%		40%	

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Business Stationers	Bye-Mo'r, Inc.
		, <u>F</u>	3800 St. Patrick St.	PO Box 107
BID TITL	E: Pape	er Products - Warehouse Stock	Montreal, Quebec, Canada H4E1A4	Kingsburg, IN 46346-0107
			(514) 989-8899	800-847-9219
BID: # 09-			(514) 989-6666	219-393-3515
ITEM#	QTY.	DESCRIPTION		
		GROUP XII-A: JANITORIAL TISSUE		
JS-19A	2,400	Toilet Tissue	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
Alternate	2,400	Toilet Tissue	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
JS-20A	4,680	Single-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
Alternate	4,680	Single-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
JS-21A	7,800	Multi-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		Recycle Content		

DATE OF	F OPENI	NG: March 14, 2008 @ 2:30 p.m	Dade P	aper Co.	E & R Indust	trial Sales, inc.
		6918 Presi	6918 Presidents Drive		11838 62nd Street	
BID TITI	LE: Pape	er Products - Warehouse Stock		orida 32809	Largo, Florida 33773	
				26-1020		36-2166
	BID: # 09-004-SN		1-407-8	57-8247	727-53	36-2206
ITEM#	QTY.					
		GROUP XII-A: JANITORIAL TISSUE				
JS-19A	2,400	Toilet Tissue	\$36.54	\$87,696.00	\$40.38	\$96,912.00
	Cases	Manufacturer	Baywest 14000		GP 14580	
		Number of Towels Per Case	96	600 case purchase	96800	
		Number of Pallets	-	*State Contract	-	
		Charge per Pallet/Exchange	Exchange		-	
		% Recycle Content	20%		20%	
Alternate	2,400	Toilet Tissue	NB		NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-20A	4,680	Single-Fold Towels	\$12.18	\$57,002.40	\$14.56	\$68,140.80
	Cases	Manufacturer	SCA SK1850A		GP 23504	
		Number of Towels Per Case	4,000	700 case purchase	4,000	
		Number of Pallets	_	*State Contract	-	
		Charge per Pallet/Exchange	Exchange		-	
		% Recycle Content	20%		40%	
Alternate	4,680	Single-Fold Towels	NB		NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet/Exchange				
		% Recycle Content				
JS-21A	7,800	Multi-Fold Towels	\$12.18	\$95,004.00	\$15.38	\$119,964.00
	Cases	Manufacturer	SCA MK530A		GP 23304	
		Number of Towels Per Case	4,000	780 case purchase	4,000	
		Number of Pallets	-	*State Contract		
		Charge per Pallet/Exchange	Exchange		-	
		Recycle Content	40%		40%	

DATE OF	TE OF OPENING: March 14, 2008 @ 2:30 p.m		Fierro Paper Industries	Mac Papers	
			100 Bethridge Road	1701 North 50th Street	
BID TITL	E: Paper	r Products - Warehouse Stock	Tornoto, Ontario M9WIN3	Tampa, Florida 33675	
	D. #00 004 SN		877-634-3776	813-247-3461	
	D: # 09-004-SN TEM# QTY. DESCRIPTION		416-746-9754	813-248-6926	
ITEM#	QTY.				
70 101	2 400	GROUP XII-A: JANITORIAL TISSUE	775	775	
IS-19A	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
JS-20A	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
IS-21A	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		Recycle Content			

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Peninsular Paper C	lompany	Pyramid School Products
			5101 East Hann	a Ave.	6510 North 54th Street
ID TITI	O TITLE: Paper Products - Warehouse Stock		Tampa, Florida 33610		Tampa, Florida 33610-1908
			813-621-30		813-621-2644
BID: # 09			813-623-13	80	813-621-7688
ITEM#	QTY.	DESCRIPTION			
		GROUP XII-A: JANITORIAL TISSUE			
S-19A	2,400	Toilet Tissue	\$33.69	\$80,856.00	NB
	Cases	Manufacturer	Atlas 125		
		Number of Towels Per Case	96		
		Number of Pallets	-		
		Charge per Pallet/Exchange	N/C		
		% Recycle Content	20%		
Alternate	2,400	Toilet Tissue	NB		NB
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
S-20A	4,680	Single-Fold Towels	12.68	\$59,342.40	NB
	Cases	Manufacturer	Cascades 101750		
		Number of Towels Per Case	4000		
		Number of Pallets	-		
		Charge per Pallet/Exchange	N/C		
		% Recycle Content	40%		
Alternate	4,680	Single-Fold Towels	NB		NB
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
IS-21A	7,800	Multi-Fold Towels	\$12.68	\$98,904.00	NB
	Cases	Manufacturer	Cascades 101751		
		Number of Towels Per Case	4000		
		Number of Pallets	-		
		Charge per Pallet/Exchange	N/C		
		Recycle Content	40%		

DATE OF OPENING: March 14, 2008 @ 2:30 p.m		Resource	One, inc.	School Specialty		
	<u> </u>		1202 North M		W6316 Design Drive	
BID TITL	ID TITLE: Paper Products - Warehouse Stock		Ocala, Flor		Greenville, WI 54942	
			352-62		888-388-3224	
	ID: # 09-004-SN		352-73	2-5660	800-675-1775	
ITEM#	QTY.	DESCRIPTION				
		GROUP XII-A: JANITORIAL TISSUE				
JS-19A	2,400	Toilet Tissue	\$41.78	\$100,272.00	NB	
	Cases	Manufacturer	GP 14580			
		Number of Towels Per Case	2400			
		Number of Pallets	96			
		Charge per Pallet/Exchange	\$5.00			
		% Recycle Content	20%			
Alternate	2,400	Toilet Tissue	\$40.34	\$96,816.00	NB	
	Cases	Manufacturer	Bayest 14000			
		Number of Towels Per Case	2,400			
		Number of Pallets	96			
		Charge per Pallet/Exchange	\$7.00			
		% Recycle Content	20%			
JS-20A	4,680	Single-Fold Towels	\$15.06	\$70,480.80	NB	
	Cases	Manufacturer	GP 235-04			
		Number of Towels Per Case	4000			
		Number of Pallets	94			
		Charge per Pallet/Exchange	5.00			
		% Recycle Content	40%			
Alternate	4,680	Single-Fold Towels	\$14.65	\$68,562.00	NB	
	Cases	Manufacturer	Baywest 470A			
		Number of Towels Per Case	4000			
		Number of Pallets	94			
		Charge per Pallet/Exchange	\$7.00			
		% Recycle Content	40%			
IS-21A	7,800	Multi-Fold Towels	\$15.90	\$124,020.00	NB	
	Cases	Manufacturer	GP 233-04			
		Number of Towels Per Case	4000			
		Number of Pallets	312			
		Charge per Pallet/Exchange	5.00			
		Recycle Content	40%			

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Standard Stationery Supply Company	Unisource W	orldwide Inc.
			2251 Foster Ave.	4151 Woodcook Drive	
BID TITL	ID TITLE: Paper Products - Warehouse Stock		Wheeling, IL 60090	Jacksonville, Florida 32207	
	D. # 00 004 SN		800-870-1315		31-1955
BID: # 09-			847-870-1338	800-22	24-8799
ITEM#	QTY.	DESCRIPTION			
		GROUP XII-A: JANITORIAL TISSUE			
JS-19A	2,400	Toilet Tissue	NB	\$44.42	\$106,608.00
	Cases	Manufacturer		G.P. 14580	
		Number of Towels Per Case		80	
		Number of Pallets		-	
		Charge per Pallet/Exchange		N/C	
		% Recycle Content		20%	
Alternate	2,400	Toilet Tissue	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
JS-20A	4,680	Single-Fold Towels	NB	\$15.44	\$72,259.20
	Cases	Manufacturer		G.P. 23504	
		Number of Towels Per Case		4,000	
		Number of Pallets		-	
		Charge per Pallet/Exchange		N/C	
		% Recycle Content		40%	
Alternate	4,680	Single-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet/Exchange			
		% Recycle Content			
JS-21A	7,800	Multi-Fold Towels	NB	\$16.55	\$129,090.00
	Cases	Manufacturer		G.P. 23304	
		Number of Towels Per Case		4,000	
		Number of Pallets		-	
		Charge per Pallet/Exchange		N/C	
		Recycle Content		10%	

DATE OF	OPENII	NG: March 14, 2008 @ 2:30 p.m	US Food Late	land Division
		•	P.O. B	ox 330
BID TITI	E: Pape	r Products - Warehouse Stock	Lakeland, FL	
			863-57	
BID: # 09			863-68	3-6186
ITEM#	QTY.	DESCRIPTION		
		GROUP XII-A: JANITORIAL TISSUE		
JS-19A	2,400	Toilet Tissue	\$42.90	\$102,960.00
	Cases	Manufacturer	G.P. 14580	
		Number of Towels Per Case	96,800	
		Number of Pallets	-	
		Charge per Pallet/Exchange	Exchange	
		% Recycle Content	20%	
Alternate	2,400	Toilet Tissue	NB	
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
JS-20A	4,680	Single-Fold Towels	\$15.20	\$71,136.00
	Cases	Manufacturer	GP 23504	
		Number of Towels Per Case	4,000	
		Number of Pallets	-	
		Charge per Pallet/Exchange	Exchange	
		% Recycle Content	40%	
Alternate	4,680	Single-Fold Towels	NB	
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet/Exchange		
		% Recycle Content		
JS-21A	7,800	Multi-Fold Towels	\$16.05	\$125,190.00
	Cases	Manufacturer	G.P. 23304	4000/case
		Number of Towels Per Case	4,000	
		Number of Pallets	-	
		Charge per Pallet/Exchange	Exchange	
		Recycle Content	40%	

DATE OF OPENING: March 14, 2008 @ 2:30 p.m		Ace Offi	ce Supplies	AFP Industries, Inc.	
		,		Court, Unit #5	PO Box 43-0747
BID TITI	E: Pape	er Products - Warehouse Stock		lorida 32805	South Miani, Florida 33243-0747
	•		407-5	23-6440	1-800-962-4041
BID: # 09	-004-SN		407-5	23-6388	1-305-665-1800
ITEM#	QTY.	DESCRIPTION			
Alternate	7,800	Multi-Fold Towels	NB		NB
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
		Recycle Content			
		GROUP XVII: MISC. PAPER PRODUCTS			
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	\$31.95	\$6,390.00	NB
	Cases	Manufacturer	Paris 02060	2500 Per carton	
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	\$28.95	\$3,763.50	NB
	Boxes	Manufacturer Manufacturer	Paris 02165	72,100.00	

DATE OF	OPENI	NG: March 14, 2008 @ 2:30 p.m	Amsan, F	Florida	Buckeye Clea	ning Center
			3031 N. Andı	rews Ave.	422 South Ware Blvd.	
BID TITL	E: Pape	er Products - Warehouse Stock	Pompano Beach,	Florida 33064	Tampa, Flor	rida 33619
			1-800-940	0-0900	813-621	-6260
BID: # 09-	-004-SN		1-800-670	0-0354	813-621	-6160
ITEM#	QTY.	DESCRIPTION				
Alternate	7,800	Multi-Fold Towels				
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet				
		Recycle Content				
		GROUP XVII: MISC. PAPER PRODUCTS				
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB		NB	
	Cases	Manufacturer				
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB		NB	
	Boxes	Manufacturer				

DATE O	DATE OF OPENING: March 14, 2008 @ 2:30 p.m		Business Stationers	Bye-Mo'r, Inc.
			3800 St. Patrick St.	PO Box 107
BID TITI	E: Pape	r Products - Warehouse Stock	Montreal, Quebec, Canada H4E1A4	Kingsburg, IN 46346-0107
			(514) 989-8899	800-847-9219
BID: # 09	-004-SN		(514) 989-6666	219-393-3515
ITEM#	QTY.	DESCRIPTION		
Alternate	7,800	Multi-Fold Towels	NB	NB
	Cases	Manufacturer		
		Number of Towels Per Case		
		Number of Pallets		
		Charge per Pallet		
		Recycle Content		
		GROUP XVII: MISC. PAPER PRODUCTS		
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB	NB
	Cases	Manufacturer		
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB	NB
	Boxes	Manufacturer		

DATE OF OPENING: March 14, 2008 @ 2:30 p.m		NG: March 14, 2008 @ 2:30 p.m	Dade Paper Co.	E & R Indus	strial Sales, inc.	
			6918 Presidents D	Orive 11838 6	11838 62nd Street	
BID TITI	ID TITLE: Paper Products - Warehouse Stock		Orlando, Florida 32	2809 Largo, FI	orida 33773	
			1-800-226-1020	727-5	36-2166	
BID: # 09	-004-SN		1-407-857-824	7 727-5	36-2206	
ITEM#	QTY.	DESCRIPTION				
Alternate	7,800	Multi-Fold Towels	NB	NB		
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet				
		Recycle Content				
		GROUP XVII: MISC. PAPER PRODUCTS				
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB	NB		
	Cases	Manufacturer				
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB	NB		
	Boxes	Manufacturer				

DATE OI	OPENI	NG: March 14, 2008 @ 2:30 p.m	Fierro Paper Industries	Mac	Papers
	•		100 Bethridge Road	1701 North 50th Street	
BID TITI	D TITLE: Paper Products - Warehouse Stock		Tornoto, Ontario M9WIN3	Tampa, F	lorida 33675
			877-634-3776	813-2	47-3461
BID: # 09	-004-SN		416-746-9754	813-2	48-6926
ITEM#	QTY.	DESCRIPTION			
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
		Recycle Content			
		GROUP XVII: MISC. PAPER PRODUCTS			
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB	NB	
	Cases	Manufacturer			
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB	NB	
	Boxes	Manufacturer			

DATE OF OPENING: March 14, 2008 @ 2:30 p.m			Peninsular Paper Company	Pyramid School Products	
			5101 East Hanna Ave.	6510 North 54th Street	
BID TITLE: Paper Products - Warehouse Stock		r Products - Warehouse Stock	Tampa, Florida 33610	Tampa, Florida 33610-1908	
			813-621-3091	813-621-2644	
BID: # 09-004-SN			813-623-1380	813-621-7688	
ITEM#	QTY.	DESCRIPTION			
Alternate	7,800	Multi-Fold Towels	NB	NB	
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
		Recycle Content			
		GROUP XVII: MISC. PAPER PRODUCTS			
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB	NB	
	Cases	Manufacturer			
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB	NB	
	Boxes	Manufacturer			

DATE OF OPENING: March 14, 2008 @ 2:30 p.m			Resource One, inc.		School Specialty		
			1202 North Magnolia Ave.		W6316 Design Drive		
BID TITI	BID TITLE: Paper Products - Warehouse Stock		Ocala, Flor	Ocala, Florida 34475		54942	
			352-622-4224		888-388-3224		
BID: # 09-004-SN			352-73	352-732-5660		800-675-1775	
ITEM#	QTY.	DESCRIPTION					
Alternate	7,800	Multi-Fold Towels	\$14.65	\$114,270.00	NB		
	Cases	Manufacturer	Baywest 48900				
		Number of Towels Per Case	4,000				
		Number of Pallets	312				
		Charge per Pallet	\$7.00				
		Recycle Content	40%				
		GROUP XVII: MISC. PAPER PRODUCTS					
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB		NB		
	Cases	Manufacturer					
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB		NB		
	Boxes	Manufacturer					

DATE OF OPENING: March 14, 2008 @ 2:30 p.m		NG: March 14, 2008 @ 2:30 p.m	Standard Stationery Supply Company		Unisource Worldwide Inc.	
			2251 Fc	ster Ave.	4151 Woodcook Drive	
BID TITLE: Paper Products - Warehouse Stock		r Products - Warehouse Stock	Wheeling, IL 60090		Jacksonville, Florida 32207	
			800-870-1315		800-631-1955	
BID: # 09-004-SN		847-870-1338		800-224-8799		
ITEM#	QTY.	DESCRIPTION				
Alternate	7,800	Multi-Fold Towels	NB		NB	
	Cases	Manufacturer				
		Number of Towels Per Case				
		Number of Pallets				
		Charge per Pallet				
		Recycle Content				
		GROUP XVII: MISC. PAPER PRODUCTS				
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	\$30.86	\$6,172.00	NB	
	Cases	Manufacturer	KDM 140			
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	\$23.63	\$3,071.90	NB	
	Boxes	Manufacturer	240	1000 min order		

DATE O	F OPENII	NG: March 14, 2008 @ 2:30 p.m	US Food Lateland Division		
			P.O. Bo	ox 330	
BID TIT	LE: Pape	r Products - Warehouse Stock	Lakeland, FL	33802-0330	
			863-573	3-0330	
BID: # 09	9-004-SN		863-683	3-6186	
ITEM#	QTY.	DESCRIPTION			
Alternate	7,800	Multi-Fold Towels	NB		
	Cases	Manufacturer			
		Number of Towels Per Case			
		Number of Pallets			
		Charge per Pallet			
		Recycle Content			
		GROUP XVII: MISC. PAPER PRODUCTS			
PP-44	200	Paper 14 7/8 x 11 Continuous pin feed	NB		
	Cases	Manufacturer			
PP-68	130	Paper 14 7/8 x 8 1/2 Continuous pin feed	NB		
	Boxes	Manufacturer			